SR~ m hHReR Ef~m e 1SO 9001

BLV-SDBF20-4/1C-35 8 | & 2 g 1@ DL8Z-5NN-M12311(BLV-5SDN20/10-21)&{FxX FEZEHE
BLV-SDBF20-4/1C-35 Multiple Directional Control Valve DL8Z-5NN-M12311(BLV-5SDN20/10-21)Mono-block Directional Control Valve For Crane Chassis
) FARZSE Technical Specifications BIS 1B Model Code
5 mmEn2sue DL8P - 4NN - M11111 A
e :

FRE :100L/min 1 2 345 67891l

fy 1 RAKS : TESHA ; 2
%E Rated Pressure: 25MPa 2. AR P-RR SR, Z-BEFXSRIE, Ei
E Rated Flow: 100L/min 3, THEBGS: 1~9: £BIkTRL~ BT AERY ; E
Electromagnetic coilWorking voltage: DC24V 4. FHEDME 1 Y-HETHREE. N-AIRENE
é% 5. BRHESN | Y-EEMNEE . N-RmRshkeE %vﬁ
S i ol N A e 6. HORKE : M-NHIEN. G-TEHIEIRL ; CE
- A4B4 A3B3 A2B2 A1B1 ML MT =}
e B e 7. P, VOIS 1 1-M22X1.5. 2-M27X2;(#ZL B AMAY) ge
s el £l £l 2L 1-G1/2. 2-G3/4;(REAZ HGH) Ch
: e gg]j 8. HMOIMFE : 1-M18X1.5, 2-M22X1.5, 3-M27X2; (IR B = AME)
1R HLBER = i L 1-G3/8. 2-G1/2. 3-G3/4;(8KE FGH) e
S Hydraulic Schematic " 9. TECIAAS | 1-M16X1.5. 2-M18X1.5, 3-M22X1.5. 4-M27X2;(BLE=tHME) b
: e 1-G3/8. 2-G1/2. 3-G3/4;(BEKEHGE)
10, T{EBSHO : 1-M16X1.5. 2-M18X1.5, 3-M22X1.5. 4-M27X2;(#2xE =X IMAT)
‘¥ 9MIZR~F Overall Dimension 1-G3/8. 2-G1/2. 3-G3/4;({BLIZEHGH) ¥
4 11, WEROHAE : 1-M10X1, 2-M12X1.5, 3-M14X1.5;(#RER = AME) A
1-G1/4; (BSEHGH)
;%g 1.Series Code : Multiple Directional Control Valve For Crane Chassis g%
g i — 2.Valve Body Type : P-Split Type, Z-Monolithic Type fg
?ﬂ 5, 8 = 3.Block:1~9 %
- — 4.Subsidiary Valve : Y-With Subsidiary Valve, N-Without Subsidiary Valve;
f;; —+-— ;\\ q 5.Additional Connection Structure : Y-With Additional Connection Structure, ;A
i% — Fl g N-Without Additional Connection Structure; ﬁjg
MQH - [ _-miow 6.0il Port Type : M-M Thread, G-G Thread; Qﬁf
8941 gl 7.P,V Oil Port Type : 1-M22X1.5, 2-M27X2(When the thread is M)
. ) 1-G1/2. 2-G3/4(When the thread is G) .
ﬁg - 8.H Oil Port Type :1-M18X1.5, 2-M22X1.5. 3-M27X2(When the thread is M) ﬁf
’ 1-G3/8. 2-G1/2, 3-G3/4(When the thread is G)
e 9.T Oil Port Type :1-M16X1.5. 2-M18X1.5. 3-M22X1.5. 4-M27X2(When the thread is M)
1-G3/8. 2-G1/2, 3-G3/4(When the thread is G) Egg
L | | BR 10.Block :1-M16X1.5, 2-M18X1.5, 3-M22X1.5, 4-M27X2(When the thread is M) gg;
| el SO R oil Ports Size 1-G3/8, 2-G1/2. 3-G3/4(When the thread is G) n%
)| L] THM33X2A1. B1. A2. B2. A3. B3. PAM27X2: 11.Measuring Oil Port :1-M10X1, 2-M12X1.5, 3-M14X1.5(When the thread is M)
s = L= A4, B4AM22X1.5:ML. MT. MLSAM14X1.5; 1-G1/4(When the thread is G) .
/@@ _ VM 10K, Al
: e

52

MORE2%Y each port flow
A1:30L/min; B1:70L/min; A2:70L/min;
B2:30L/min; A3:90L/min; B3:90L/min;
! ! A4:50L/min; B4:50L/min;

s

-

WY
T O P

WWW.BOLEV-HYDRAULICS.COM Qs




